LOG LAWS
1.
Write each expression in terms of the individual logarithms of x, y, and z.
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2.
Use the laws of logarithms to simplify and evaluate each expression.

a)
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b)
2 log2 4  log2 5  log2 10
c)
log5 25
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3.
Write each expression as a single logarithm in simplest form.

a)
log4 x  2 log4 y




b)
log6 x  3 log6 y  4 log6 z
c)
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d)
2  3 log x  log y 
4.
Evaluate each of the following.

a)
If log5 x  25, determine the value of 
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b)
Determine the value of logn ab2     if logn a  5 and logn b  3.
c)
If log c  3, evaluate log 10c2.

d)
If loga x  3 and loga y  4, evaluate 
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5.
Simplify.
a)
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b)
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6.
If log5 9  k, write an algebraic expression in terms of k for each of the following.

a)
log5 94




b)
log5 45
c)
log5 (81×125)




d)
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7.
Write each expression as a single logarithm in simplest form.  State any restrictions on the variable.

a)
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ANSWERS

1. a) 
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c) 
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2. a) log8 512  3   

b) log2 8  3

c) log5 52.5  2.5   
d) log 1  0 

3. a) 
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c) 
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4. a) 23   b) 11   c) 7   d) (14
5. a) 25   b) 16  

6. a) 4k   b) 1  k   c) 2k  3   d) 0.25k  2 

7. a) 
[image: image24.wmf]11

4

,

3

log

x

 x ≠ 0   b) 
[image: image25.wmf]7

5

3

log,

x

 x ≠ 0
_1377694027.unknown

_1377694159.unknown

_1377694161.unknown

_1383653972.unknown

_1383654240.unknown

_1378035807.unknown

_1377694160.unknown

_1377694067.unknown

_1377694077.unknown

_1377694158.unknown

_1377694041.unknown

_1377687252.unknown

_1377687463.unknown

_1377694004.unknown

_1377694018.unknown

_1377693993.unknown

_1377687435.unknown

_1377687462.unknown

_1377687461.unknown

_1377687333.unknown

_1377687434.unknown

_1377682814.unknown

_1377687251.unknown

_1376759219.unknown

_1376761152.unknown

